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ANSWERS to Exam 3 B
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2. inelastic

1
5. minimum at (—5, g)

4
6. IV _ (1) r2 4+ 427" (In 4)(8r%)
a)
b) x= -6, -4, -1,3,5, 7
c)

x=-1,5,7
d) smallest: f/(6>7 f/(0>7 f,(4)7 f,(_2>7 f,(_,?) largeSt

8. concave up: (—oo, —2.309) U (2.309, co)
concave down: (—2.309,2.309)
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9. 1. Does the lim f(z) exist?

r—a

2. Is f(a) defined?
3. Does lim f(z) = f(a)?

10. y=-.38x+2.24
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(b) f (.I') - 23 (ln 2)(3) - 111(1‘2 — 51 + 7T3) 2 — 51 + 3

o (42 + e 2")(5(62)1(6)) — (62)°(8x + 57" (152% — 92%))
(c) ¢'(x) = (422 + €577 =2%)2
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11. (a) ¥ = = (22" (42 — ln(5x)))_§ [29&4(4 - i(5)) + (42 — In(52))(82%)

(22 —b)

(e) (see graph)




